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ALL DEVISES INDICATED WITH 'R' SHALL BE RELOCATED. INCLUDE THE COMPLETE RELOCATION
50

OF THE EXISTING ITEM IDENTIFIED IN ITS CURRENT LOCATION ON THE DEMOLITION DRAWINGS,
TO THE NEW LOCATION AS INDICATED ON THE RENOVATION DRAWINGS. INCLUDE ALL LABOUR

AND MATERIALS TO REROUTE/EXTEND/REFEED THE EXISTING CIRCUITRY AS REQUIRED TO

CONTRACTOR SHALL DEMOLISH ALL EXISTING LIGHT FIXTURES COMPLETE WITH WIRING BACK
ACCOMMODATE THE RELOCATION.

TO SOURCE. REUSE EXISTING CIRCUITS FOR NEW LIGHTING FIXTURES WITHIN THE SPACE.
PROVIDE TYPEWRITTEN PANEL DIRECTORIES INDICATING UPDATED CIRCUITING. TURN ALL

LIGHTING COMPONENTS OVER TO BUILDING OWNER.
DEMOLISH ALL EXISTING SWITCHES COMPLETE WITH WIRING AND CONDUIT BACK TO SOURCE

COORDINATE ALL WORK REQUIRING SHUT-DOWN OF EXISTING SYSTEMS THAT COULD AFFECT
EXISTING TENANTS WITH THE BUILDING OWNER AT A TIME AND MANNER SUITABLE TO THEM.
SOURCE. SECURE ALL EXISTING UN-SUPPORTED WIRING, CONDUIT AND JUNCTION BOXES TO
UNLESS OTHERWISE INDICATED.

CONTRACTOR SHALL REMOVE ALL EXISTING ABANDONED WIRING IN CEILING SPACE BACK TO
MEET MINIMUM CODE REQUIREMENTS.

DEMOLISH EXISTING LOW VOLTAGE RELAY LIGHTING CONTROL SYSTEM FROM THIS SPACE.

TURN ALL COMPONENTS OVER TO BUILDING OWNER.
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TRAINING ROOM (207) & FIT-UP AREA RCP DEMOLITION PLAN
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